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Who smong the following personalities is also known by the name of Gurudev?
) Dr. 5. Radhakrishnan
b} Shyma Prasad Mukherjee
¢) Rabindra Nath Tagore
d) Bankim Chandra Chatterjee

Sabarmati Ashram, set up by Mahatma Gandhi is located at which of the following places?
a) Ahemdabad
by Porbandar
¢} Gandhinagar

In a cricket malch season, West Indies defeated Newzealand four Limes, India defeated Newzealand
three times, Australia defeated West Indics three times. West Indies defeated India only once and
India defeated Ausiralia once. Which country lost most of the times?

a) India

by West Indies

¢) Newzealand

di  Australia

=
-
——

Find the incorrect match among the following:

a) Jleff Bezos Microsoft
b) Kiran Mazumdar Shaw Bicon

¢} Indra Nooyi Pepsi Co.
di Sundar Pichai Guoogle

In a certain code BOARD is written as 53160 and NEAR is written as 2416, How is NODE wrilten
in that code?

a) 2894

by 2934

) 2604

d) None of the above
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13.

aj
b)
<)
di

Who among the following is given ‘Best Actor Award’ in the recent 64” National Film Awards?

aj
b
<)
dj

33 il i B52 2553

285
28R
250
384

Alkshay Kumar
Aamir Khan

Ranbir Kapoor
MNawarudin Siddiqui

Who among the following is Captain of Indien Women Cricket Team?

aj
bj
c}
d)

Harmanpreet Kaur
Mithali Raj

Ekta Bisht

Jhulan Goswami

T T
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d)

Fifth Schedule

Why is the sky blue most of the time?

a)
by

<l
d)

Bloe light is scattered more than other colours as it has shorter
wavelength
Blue light is scattered more than other colours as it has longer
wavelength
Red light is scattered more than other colours as it has longer wavelength

Red light is scattered more than other colours as it has longer wavelength
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Which of the following is not a fundamental right?

a}
bl
c)
dj

Right to Life
Right to property
Right to education
Right to equality

Who among the following is not appointed by the President of India?

aj
by
c}

di

Governor

Chief Justice of Supreme Court
Chief Justice of High Court
Yice President of India

Whao is the Chairperson of the Lok Sabha?
President

Prime Minister

Speaker

Minister of Parliamentary Affairs—

aj
b

cl

d}

Indus Valley CmJ.Lz.a.uﬂn was nol based on urhan plmmmg
Indus Valley Civilization was an Iron Age Civilization
Indius Valley Civilization had no contact with the cutside world

The daily range of temperature is greater in:

aj
L]
)

d}

Coastal arcas

Small islands

Interior regions

High mountain summits
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Millennium Development Goals have been set up for:

aj All Countries

bl Developed Countries
c) Developing Countries
d} OECD Countrics

“One country, one tax™” describes:
a) Income tax
] GST
c) Sales tax

d) p i https://recruitmentindia.in/

Exporis from India will receive a boost when:
aj The domestic currency appreciates
b} The domestic currency depreciates
c) The domestic currency remains unchanged
d} The US dollars depreciates

Humidity in the air i measured by:
a) Hydrometer
b Hygrometer
c) Opisometer
dj Baromeler
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30. Tropic of Cancer does not pass through which of the following Indian states?
a) Gujarat

by West Bengal
¢} LUttar Pradesh

dj  Mizoram

31. Assertion (A): In constant pressure type zas turbines, larpe quantity of sir is used, in excess of ils
combustion requirements.
Reason (R): Excess air is used to compensate for inevitable air-loss due to leakape in the system.
a} Both (A) and (R} arc true and (R} is the comect explanation of {(A)
b} Both (A) and (R) are true but (R} is NOT the correct explanation of a
¢l (A)is truc but (R} is false
di (A} is false but (R) is troe

32, Which of the following is NOT a method for the design of Air-conditioning system?
a} Velocity reduction method
by Egual friction method
¢} Egual pressure method
d) Static regain method

33, Two identical p.Lp:s of Icnglh L dLam:I:r d and | fm:tlun factor f' are cunnﬂcmd in ps.ﬂll:l between

35. In a planar kinematic chain | links are connected through p pairs. The relationship between | and p is
given by
a) l=p-1
by l=2p-2
c}] 1=2p-3
dy l=2p—4

36, In simple harmonic motion, the aceeleration is proportional 1o
a) time period
by displacement
c) welocity
d) momentum
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37. Which of the following type of gears is recommended for a speed reduction of 50: 1

a) Spur
by Helical
¢l Worm
d) Bevel
38. The rated life of a ball bearing is:
a) proportional to the load
by inversely proportional to the losd
¢} inversely proportional to the square of the load
dj inversely proportional to the cube of the load

39, A 300 mm diameter basketball of 2 mm wall thickness has been inflated to a pressure of 100 kPa. The

value of hoop stress developed is equal 1o
al I0MPa
by 5 MPa
c) 375 MPa
dj 2.75MPa

40, The load carrying capacity of a hydro-d: ummﬂyllﬂ:ncahd_pmnlbﬂmmgdqxndsm

MIJ ek

|'r"'i"l [

il | .

44. The carbon content in wrought iron is
a} less than 0.01 percent
by between (.01 to 1.0 percent
¢} between 1.0 and 3.0 percent
d) between 3.0 and 5.0 percent.

Ab



45. With increasing the pressure ratio, the volumetric efficiency of a reciprocating compressor
4] Temdins same
by increases
c] decreases
d) cannot be predicted

46. Assertion {A): Pressurised water reactor (PWR) nuclear power plant use superheated steam.
Reason (R An increase in superheat at constant pressure increases the cycle efficiency.
a) Both (A) and (R) are true and (R) is the comrect explanation of (A)
b) Both (A) and (R} arc true but (R} is NOT the correct explanation of {A)
¢} (A)is true but (R) is false
dy (A)is false but (R) is truec

47. Which of the following forces does NOT act on a fluid in rest?
a) Gravity force
by Hydrostatic force
¢ Surface tension force
d) WViscous force

48, Dwring choking of nozzle
a) the mass flow rate through nozzle is maximum
by the mass floy 1 s minimum =

52, In the design of spur gears, the Barth's equation is used to express
a) Velocity Factor
b} Geometry Factor
Factor,

1. Si
Pty N oo

53. With reference to iron — carbon diagram, pearlite phase is made up of alternate layers of
u) Ferrite and martensite
by Ferrite and cementite
¢} Martensite and cementile
d) Cementite and bainite

AT
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55

56,

iT.

58

59,

61.

Which one of the following is a copper free alloy?

a)
b)
c)

d)

The molding process employed for thermoplastic materials is

a}
b
cl
dj

German silver
Muniz metal
White metal
Gun metal

Injection and extrusion method

Compression and transfer molding method

Diie casting method
Continuous casting method

Ralmjltﬁ:fﬁclma:us!mglsch.lcm

aj
Ll
c)

d)

Dcpthnf:utmhn‘n.mgupuahmuﬂmtuu!mdncmnmﬂm

aj

mietal mold expansion
none of the above

Helical gears can be cut on
a} universal milling machine
b} horizontal milling machine
¢} wertical milling machine
d) planetary milling machine

r!'.‘ sy

2

Which of the following rule is used in designing of riser of metal casting mould?

ay
b
c)
d)

Chvorinoy's rule
Lever rule
Phase rule

Bernoulli's rule

AR



62,

63.

67,

. The choking in comps

By higher octane number of S1 fuel. it is meant that the fuel has
a) longer ignition delay
by higher flash point
¢} lower viscosity
d) higher heating value

Which of the following heat exchanger gives parallel straight-line pattem of temperature distribution for
both cold and hot fluids?

a) Parallel-flow with unequal heat copacities

by Parallel-flow with equal heat capacitics

¢} Counter flow with unequal heat capacities

d) Counter flow with equal heat capacitics

. Assertion {A): Heat transfer ot high temperature is dominated by radistion rather than convection.

Reason (R): Radiation depends on fourth power of temperature while convection depends on unit power
relationship.

a) Both (A) and (R) are true and (R) is the comect explanation of (A)

b} Both (A) and (R) are true but {R} is NOT the correct explanation of {A)

€] (A)is true but (R} is false

d) (A)is false but (R} is truc

ow rate rezardless of pressure ratio
ination of chord with air s

critical damping is a

function o

a) damping cocfficient and mass

b} damping coefficient and stiffness

¢} damping cocfficient, mass and stiffncss
d) mass and stiffness

The taper on a cotter varies from
a) l:6wi: 10
b) 1:20101:24
c) I:30tol: 34
dy 1: 3610 1: 40



J0.  Two mating spur gears have 25 teeth and 75 tecth. The pinion rotates at 1260 rpm. What is the rolational
speed of the gear?
a) 420 rpm
by 240 rpm
¢l 1060 pm
d) 1260 rpm

71. Which one of the following is an-type semiconductor?
a) Phosphorus in Silicon
by Boron in Silicon
¢l Aluminum in Silicon
d) Indium in Silicon

72, Process I requires 30 units of fixed cost and 5 units of variable cost per piece, while process 11 requires 70
units of fixed cost and 2 units of variable cost per piece. For o company producing 10 pieces per day
a) process | should be chosen
b process Il should be chosen
¢} ecither of the processes could be chosen
d) a combination of process 1 and process 11 be chosen

73 ! c;_iﬂmlw:d the economic order guantity

T4

75. Principal stresses at a point in a plane stressed clement are -
O, = O, = 500 N/m®. Normal stress on the plane inclined at 45% to x-axis will be

al L]

bi SO0 Nim®

cl 707 Nim®

dj 1000 /o7 https://recruitmentindia.in/
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T6. A shaft was initially subjected lo a bending moment and then was subjecled Lo torsion. If the magnitude
of bending moment is found to be the same as that of the torgue, then the ratio of maximum bending
stress Lo shear stress would be

a) 0.25
by .50
c) 20
dj 4.0

77. The buckling load will be maximum for a long column, if
ap one end of the column is clamped and the other end is free
by both ends of the column are clamped
ch both ends of the column are hinged
di one end of the column is hinged and the other end is free

T78. The 5-N curve for steel becomes asympiotic nearly at

1) 10" cyeles
b 10* cyeles
c) 10° cycles
d) 10° cycles

£2. The finishing operation on a C40 steel component of length 120mm is done at 60 m/minute cuiting speed.
If the spindle speed and feed are 440 rpm and 0.1 mmurey, respectively while the over travel of the tool
beyond the length of the job is 2nmm, then machining time for one pass in minutes is

a) L.77
b 217
c) 17
dj 3.77

£3. An optical gauge works on the principle of
al Reflection of light rays
b Polarization of light rays
cl Interferences of light rays
di Dispersion of light rays



£4. One reversible engine openites belween 1600 K and T K and another reversible engine operates between
T K and 400 K. If both engines have same heat input and outpat. then the temperature T must be equal to

a) 100 K
b 1200 K
cl 1400 K
dj 800 K

£5. By higher octane number of 51 fuel, it is meant that the fuel has
a) longer ignition delay
by higher flash point
¢} lower viscosity
d) higher heating value

6. Match List [ and List 11 and select the correct answer using the codes given below the lists:

List 1 List I
{Material propertics)  {Test to determine material propertics)

87. If the pri 3 g | d @~ and &, is greater
than &, and B ! hich h &l criterion for failure by

£8. The centrifugal tension T, for maximum power o be transmitted by the belt is given by
a) T.=3T
b) T.=2T
o) T.=TR~
d} T.=T3
Where T = Maximum allowable belt tension

https://recruitmentindia.in/
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£9. The minimum number of teeth o avoid interference in a two wheel sel of equal size, when addendum is
one module, is given by
2

' ———— e E—
1+3sin’ p—1

b) 2[J|+ BT —1}
o 2{J|+3sin3 ¢+1}

df ——
ﬁ,’1+3sin1¢ +1

90. When pure metals and some eutectic alloys solidify, the interface between the liquid and solid metals is a
well defined smooth surface. As the solidification advances towards the center the grains become larger.
the lhi.dm:;lsufgmhu‘:‘ al time ‘1" is given by
a) Kyt
b} K it
ch th
d) Kt : - —= =

where K, isa o ) supon the metal poured and the mould material.

93. Choose the incomect statement. The Second Law of Thermodynamics indicates that
a) complete conversion of low grade encrgy into high grade energy is impossible
b} heat and work are not completely interchangeable
¢} reversible and imreversible are two distinct processes
d) it is possible 1o transfer heat from low temperature to high temperature if heat extracted is exactly
equal to work delivered.

04, A device used to heat feed water by utilizing the heat in the exhaost flue gases before leaving through the
chimney, is known as
a) superheater
b) economizer
¢) reheater
di mone of the above

A-13



95, The specific speed of a lurbine is expressed as

nAP
B
wP

a)

b

cl

d)

06, If a material had a modulus of elasticity of 2.1 X 10° M/m” and a modulus of rigidity of 0.8 x 106 N/m® |
then the approximate value of the Poisson’s ratio of the material would be

aj 0.26

b 0.31

cl 047

d) manufacturer’s reference
h recruitmentin n
100, The goal of basi ttPIssllnec uit e tindia.in/

a) order size

b) ordering cost

¢} sum of purchasing and ordering cost
dy sum of ordering and holding cost

s o
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